

Contract ID: 14122 Counties: MONMOUTH

Letting Date: May 22, 2014 District(s): C1

Call Order: 122 Project(s): 100% STATE

Contract Time: 12/01/14 COMPLETION DATE

Line No / Item ID Item Description		(1) TRI-STATE DREDGING INC		(2) MOBILE DREDGING & PUMPING CO		(3) VILLAGE DOCK CONTRACTING, INC.	
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	ROADWAY		Cat Al	t Set:	Cat A	It Member:	
0001 151006M	1.000	35,000.00000	35,000.00	1.00000	1.00	14,350.00000	14,350.00
PERFORMANCE BOND AND PAYMENT BOND	D DOLL						
0002 152004P	1.000	50,000.00000	50,000.00	1.00000	1.00	2,000.00000	2,000.00
OWNER'S AND CONTRACTOR PROTECTIVE LIABILITY INSURANCE	OR'S DOLL						
0003 152015P	1.000	25,000.00000	25,000.00	1.00000	1.00	2,000.00000	2,000.00
POLLUTION LIABILITY INSU	IRANCE DOLL						
0004 153009P	(1)	10,000.00000	10,000.00	3,000.00000	3,000.00	5,000.00000	5,000.00
BAR CHART PROGRESS SCHEDULE AND UPDATES	LS						
0005 154003P	(1)	200,000.00000	200,000.00	293,216.00000	293,216.00	525,000.00000	525,000.00
MOBILIZATION	LS						



Contract ID: 14122 Counties: MONMOUTH

Letting Date: May 22, 2014 **District(s):** C1

Call Order: 122 Project(s): 100% STATE

Contract Time: 12/01/14 COMPLETION DATE

Line No / Item ID Item Description		(1) TRI-STATE DREDGING INC		(2) MOBILE DREDGING & PUMPING CO		(3) VILLAGE DOCK CONTRACTING, INC.		
Alt Set	/ Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION	N : 0001	ROADWAY		Cat Al	t Set:	Cat A	It Member:	
0006	155003M	1.000	50,000.00000	50,000.00	22,272.00000	22,272.00	25,000.00000	25,000.00
FIELD OF	FICE TYPE A SET I	JP U						
0007	155021M	6.000	1,000.00000	6,000.00	1,000.00000	6,000.00	3,000.00000	18,000.00
FIELD OF MAINTEN	FICE TYPE A ANCE	MO						
8000	157004M	1.000	25,000.00000	25,000.00	5,290.00000	5,290.00	37,500.00000	37,500.00
CONSTRU	JCTION LAYOUT	DOLL						
0009	158006M	1,275.000	10.00000	12,750.00	4.00000	5,100.00	7.50000	9,562.50
SILT FEN	CE	LF						
0010	158060M	45.000	222.22000	9,999.90	100.00000	4,500.00	150.00000	6,750.00
CONSTRU	JCTION DRIVEWAY	/ Т						



Contract ID: 14122 Counties: MONMOUTH

Letting Date: May 22, 2014 **District(s):** C1

Call Order: 122 Project(s): 100% STATE

Contract Time: 12/01/14 COMPLETION DATE

Line No / Item ID Item Description		(1) TRI-STATE [(1) TRI-STATE DREDGING INC		(2) MOBILE DREDGING & PUMPING CO		(3) VILLAGE DOCK CONTRACTING, INC.	
Alt Se	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	ON: 0001	ROADWAY		Cat Al	t Set:	Cat A	It Member:	
0011	158072M	1.000	1,500.00000	1,500.00	300.00000	300.00	3,750.00000	3,750.00
OIL ONL TYPE 1	Y EMERGENCY SPIL	L KIT, U						
0012	158084M	37.000	20.00000	740.00	50.00000	1,850.00	150.00000	5,550.00
EROSIO REMOVA	N CONTROL SEDIME AL	NT CY						
0013	158085P	1.000	10,000.00000	10,000.00	6,900.00000	6,900.00	12,000.00000	12,000.00
BIOLOG	ICAL SURVEYS	LS						
0014	159018M	1.000	7,500.00000	7,500.00	600.00000	600.00	3,000.00000	3,000.00
CONSTR SIGN, 6'	RUCTION IDENTIFICA X 12'	TION U						
0015	161003P	(1)	25,000.00000	25,000.00	3,100.00000	3,100.00	15,000.00000	15,000.00
FINAL C	LEANUP	LS						



Contract ID: 14122 Counties: MONMOUTH

Letting Date: May 22, 2014 **District(s):** C1

Call Order: 122 Project(s): 100% STATE

Contract Time: 12/01/14 COMPLETION DATE

Line No / Item ID Item Description		(1) TRI-STATE DREDGING INC		(2) MOBILE DREDGING & PUMPING CO		(3) VILLAGE DOCK CONTRACTING, INC.		
Alt Se	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	DN : 0001	ROADWAY		Cat Al	t Set:	Cat A	It Member:	
0016	201003P	(1)	25,000.00000	25,000.00	30,000.00000	30,000.00	45,500.00000	45,500.00
CLEARIN	NG SITE	LS						
0017	202041M	16,537.000	12.30000	203,405.10	22.00000	363,814.00	19.50000	322,471.50
	NG, TRANSPORT ANI IENT TO CDF	O CY						
0018	202042M	14,995.000	12.30000	184,438.50	18.80000	281,906.00	16.50000	247,417.50
	NG, TRANSPORT ANI IENT TO BEACHFILL	O CY						
0019	202043P	1.000	10,000.00000	10,000.00	15,000.00000	15,000.00	20,000.00000	20,000.00
SLURRY	WATER CONTROL	LS						
0020	203065P	11,820.000	25.38000	299,991.60	19.25000	227,535.00	8.90000	105,198.00
	ED DISPOSAL FACILI RUCTION	TY CY						

Tabulation of Bids

Page: 5

Contract ID: 14122 Counties: MONMOUTH

Letting Date: May 22, 2014 District(s): C1

Call Order: 122 Project(s): 100% STATE

Contract Time: 12/01/14 COMPLETION DATE

Line No / Item ID Item Description		(1) TRI-STATE DREDGING INC		(2) MOBILE DREDGING & PUMPING CO		(3) VILLAGE DOCK CONTRACTING, INC.		
Alt Se	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	N : 0001	ROADWAY		Cat Al	t Set:	Cat A	It Member:	
0021	603036P	11.000	454.54000	4,999.94	200.00000	2,200.00	450.00000	4,950.00
RIPRAP STONE CHANNEL SY PROTECTION, 12" THICK (D50=6")								
0022	605201P	2,065.000	9.68000	19,989.20	7.00000	14,455.00	8.62000	17,800.30
SAND F	ENCE	LF						
0023	806018P	3,800.000	5.26000	19,988.00	3.00000	11,400.00	1.50000	5,700.00
FERTILIZ F	ZING AND SEEDING	S, TYPE SY						
0024	809003M	3,800.000	2.63000	9,994.00	3.00000	11,400.00	1.50000	5,700.00
STRAW	MULCHING	SY						
Secti	on Totals:			\$1,246,296.24		\$1,309,841.00		\$1,459,199.80
	Cor	ntract Totals		\$1,246,296.24		\$1,309,841.00		\$1,459,199.80

6



Tabulation of Bids Page:

Contract ID: 14122 Counties: MONMOUTH

Letting Date: May 22, 2014 District(s): C1

Call Order: 122 Project(s): 100% STATE

Contract Time: 12/01/14 COMPLETION DATE

Contract Description: RE-ADVERTISEMENT OF MAINTENANCE DREDGING AND CHANNEL

Cost Plus Time Totals \$1,246,296.24 \$1,309,841.00 1,459,199.80

() indicates item is bid as Lump Sum

Page: 7



Tabulation of Bids

Contract ID: 14122 Counties: MONMOUTH

Letting Date: May 22, 2014 **District(s):** C1

Call Order: 122 Project(s): 100% STATE

Contract Time: 12/01/14 COMPLETION DATE

Line No / Item ID Item Description		(4) FER CONSTRUCT		(5) CROWDE	RGULF, LLC		
Alt Set / Alt Member Quar	ntity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	ROADWAY		Cat Alt	t Set:	Cat A	It Member:	
0001 151006M	1.000	13,894.00000	13,894.00	14,500.00000	14,500.00		
PERFORMANCE BOND AND PAYMENT BOND	DOLL						
0002 152004P	1.000	11,300.00000	11,300.00	9,900.00000	9,900.00		
OWNER'S AND CONTRACTOR'S PROTECTIVE LIABILITY INSURANCE	DOLL						
0003 152015P	1.000	30,000.00000	30,000.00	2,450.00000	2,450.00		
POLLUTION LIABILITY INSURANCE	E DOLL						
0004 153009P	(1)	5,000.00000	5,000.00	4,750.00000	4,750.00		
BAR CHART PROGRESS SCHEDULE AND UPDATES	LS						
0005 154003P	(1)	850,000.00000	850,000.00	580,000.00000	580,000.00		
MOBILIZATION	LS						



Contract ID: 14122 Counties: MONMOUTH

Letting Date: May 22, 2014 **District(s):** C1

Call Order: 122 Project(s): 100% STATE

Contract Time: 12/01/14 COMPLETION DATE

Line No / Item ID Item Description		(4) FERREIRA CONSTRUCTION CO INC		(5) CROWDERGULF, LLC				
Alt Se	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	ON : 0001	ROADWAY		Cat Alt	Set:	Cat Alt Member:		
0006	155003M	1.000	40,000.00000	40,000.00	16,500.00000	16,500.00		
FIELD C	FFICE TYPE A SET U	JP U						
0007	155021M	6.000	2,500.00000	15,000.00	3,600.00000	21,600.00		
FIELD C	PFFICE TYPE A NANCE	МО						
8000	157004M	1.000	35,000.00000	35,000.00	72,500.00000	72,500.00		
CONST	RUCTION LAYOUT	DOLL						
0009	158006M	1,275.000	9.00000	11,475.00	3.60000	4,590.00		
SILT FE	NCE	LF						
0010	158060M	45.000	55.00000	2,475.00	45.00000	2,025.00		
CONST	RUCTION DRIVEWAY	′ Т						



Contract ID: 14122 Counties: MONMOUTH

Letting Date: May 22, 2014 **District(s):** C1

Call Order: 122 Project(s): 100% STATE

Contract Time: 12/01/14 COMPLETION DATE

	Line No / Item ID Item Description		(4) FERREIRA CONSTRUCTION CO INC		(5) CROWDERGULF, LLC			
Alt Se	t / Alt Member Q	uantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	N : 0001	ROADWAY		Cat Al	t Set:	Cat A	It Member:	
0011	158072M	1.000	1,000.00000	1,000.00	430.00000	430.00		
OIL ONL TYPE 1	Y EMERGENCY SPILL	KIT, U						
0012	158084M	37.000	55.00000	2,035.00	125.00000	4,625.00		
EROSIO REMOVA	N CONTROL SEDIMEN' AL	T CY						
0013	158085P	1.000	35,000.00000	35,000.00	11,500.00000	11,500.00		
BIOLOG	ICAL SURVEYS	LS						
0014	159018M	1.000	1,850.00000	1,850.00	1,500.00000	1,500.00		
CONSTR SIGN, 6'	RUCTION IDENTIFICATI X 12'	ON U						
0015	161003P	(1)	30,000.00000	30,000.00	12,500.00000	12,500.00		
FINAL C	LEANUP	LS						

Page: 10



Tabulation of Bids

Counties: MONMOUTH

Letting Date: May 22, 2014 District(s): C1

Call Order: 122 Project(s): 100% STATE

Contract Time: 12/01/14 COMPLETION DATE

Contract ID: 14122

	Line No / Item ID Item Description		(4) FERREIRA CONSTRUCTION CO INC		(5) CROWDERGULF, LLC			
Alt Se	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	ON : 0001	ROADWAY		Cat Alt	Set:	Set: Cat A		
0016	201003P	(1)	25,000.00000	25,000.00	6,250.00000	6,250.00		
CLEARII	NG SITE	LS						
0017	202041M	16,537.000	30.00000	496,110.00	46.00000	760,702.00		
	NG, TRANSPORT ANI MENT TO CDF	D CY						
0018	202042M	14,995.000	29.00000	434,855.00	46.00000	689,770.00		
	ING, TRANSPORT ANI MENT TO BEACHFILL	D CY						
0019	202043P	1.000	58,000.00000	58,000.00	62,500.00000	62,500.00		
SLURRY	WATER CONTROL	LS						
0020	203065P	11,820.000	13.50000	159,570.00	28.00000	330,960.00		
	ED DISPOSAL FACILI RUCTION	TY CY						



Tabulation of Bids

Page: 11

Contract ID: 14122 Counties: MONMOUTH

Letting Date: May 22, 2014 District(s): C1

Call Order: 122 Project(s): 100% STATE

Contract Time: 12/01/14 COMPLETION DATE

	Line No / Item ID Item Description		(4) FERREIRA CONSTRUCTION CO INC		(5) CROWDERGULF, LLC			
Alt Set	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	N: 0001	ROADWAY		Cat Alt	Set:	Cat Alt Memb		
0021	603036P	11.000	100.00000	1,100.00	312.00000	3,432.00		
	STONE CHANNEL CTION, 12" THICK (D	SY (50=6")						
0022	605201P	2,065.000	15.00000	30,975.00	5.00000	10,325.00		
SAND FE	ENCE	LF						
0023	806018P	3,800.000	2.50000	9,500.00	2.50000	9,500.00		
FERTILIZ F	ZING AND SEEDING	S, TYPE SY						
0024	809003M	3,800.000	2.50000	9,500.00	1.85000	7,030.00		
STRAW	MULCHING	SY						
Section	Section Totals:			\$2,308,639.00		\$2,639,839.00		
	Coi	ntract Totals		\$2,308,639.00		\$2,639,839.00		



Contract ID: 14122 Counties: MONMOUTH

Letting Date: May 22, 2014 District(s): C1

Call Order: 122 Project(s): 100% STATE

Contract Time: 12/01/14 COMPLETION DATE

Contract Description: RE-ADVERTISEMENT OF MAINTENANCE DREDGING AND CHANNEL

Cost Plus Time Totals \$2,308,639.00 \$2,639,839.00

() indicates item is bid as Lump Sum



Vendor Ranking

Page:

Call Order: 122 Contract ID: 14122 Counties: MONMOUTH

Letting Date: May 22, 2014 10:00 AM **District(s):** C1

Contract Time: 12/01/14 COMPLETION DATE

Contract Description: RE-ADVERTISEMENT OF MAINTENANCE DREDGING AND CHANNEL Project(s): 100% STATE

Rank	Vendor ID	/Name	Total Bid	Percent Of Low Bid
1	T7463	TRI-STATE DREDGING INC	\$1,246,296.24	100.00%
2	M6019	MOBILE DREDGING & PUMPING CO	\$1,309,841.00	105.10%
3	26-3455375	VILLAGE DOCK CONTRACTING, INC.	\$1,459,199.80	117.08%
4	F2743	FERREIRA CONSTRUCTION CO INC	\$2,308,639.00	185.24%
5	01-0626019	CROWDERGULF, LLC	\$2,639,839.00	211.81%

I CERTIFY THAT THE ABOVE IS AN EXACT TRANSCRIPT OF THE ORIGINAL BID PROPOSAL, EXCEPT THAT ERRORS, IF ANY, IN EXTENSION AND ADDITIONS HAVE BEEN CORRECTED.

SIGNED,